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Ni X#Ih6 , 0 (3 x=Ih6,y =1,y =0 () x#Ih6 (1) 8 .5

_ . _9 _
Xpin =13 7 (n3, 1) .2 (@yrinrm S== (3) y . =1 (1) 3
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52 1han 11909
A(0,28), B(16,0) , C(x,y)

2 2
AC” +BC™ =1,320

4
b

E(0,20)

12

2 2 2 2
(0—x) +(28—y) +(16—x) +(0—y) =1,320
2 2 2 2
X +784—56y+y +256—32x+Xx +y =1,320
2 2
2X —32x+2y — 56y =280 /:2

2 2
X —16x+y —28y=140 /+64 /+ 196

<

Fl(C, 0)

G(0, —20)

2 2 2 2
X —16x+64+y —28y+196 =400 = (x—8) +(y—14) =400 Sw»n

\

N .7

, VNS M’ 14 7Y ,NORNY MTH> 8 Sapnny Jynpn mitn (1) .4

.D2N7 TPYUNRID YNNI NN DPINYN

2 2 2
X +y =200 >mpn Swnn Sapmmw 1o

G(0,—20) Y E(0,20) 93 ,(0,420) MTIPIN Ny PN DY Saynn TN 10

(€0 = EFp:m=20  (02) = y-20=-Z(x-0) = 20x+cy-20c=0

_ 2 2
d((0,0), EF)) =2 =12 = 2 15 - 400¢” = 144 (100 +C")

V221

2 2
= 256c =144-400 = ¢ =225 = c=%£15 = F1=(15,O)

2
2 2 2 2 2 2 2 2y
_ _ _ X =
c =a —-b = 15 =a —-20 = a =625 = 6_25+400_1
p A
N\
——_ N
EFI: 20x+ 15y — 300 =0 = 4x+3y—60:0// \\\\\
/ RN
d(R,R), EF;) =R // ~ :
| N
[4R+3R—60] _ o , (CRR)y————— 0
s R = IR 60/=5R | } 1
\
\ ‘ /
(1) 7R—60=5R N \ L7 R.R)
S F2‘h rad
X = >
= R=30>15 (X) Fi(c,0)
(2) 60-7R=5R = R=35
2 2
= (x-5) +(y-5) =25
* *
d(-R",R"), EF)=R = MZR*
* * * =
(1) —-R -60=5R = R <0 = x y

2 2
2 R +60=5R" = R =15 = (x—15) +(y—15° =225

424



052-2671210 - [2V?3 7IR) WY TINXIT - 3 PIIT - IR 11NA - 582 NUNW - ma1 »nan O

1.AD +&.DB + k-DC N ?(0’4’9) .2

I=

C(0,4,0)

LV Y u Ty w9y ABC W A

NN EF ~w >0 EF || ABC v o0

LDPNODY DY ODIMNX SV SINID NPY

1-3k=0 = k=3 0rnwsvotpon pn
P
A(0,0,0) , C(0,n,0) , B(p,6,0), u-v=24, BD=(-8,-2,9)
v=AC=C-A=(0,n00 , u=AB=B—A=(p,6,0)
uv=(p,6,0)-(0,n0)=6n=24 = n=4 = 60,40
D(x,y,z) = Bb:D—B:(x—p,y—6,z):(—8,—2,9)
X—-p=-8 = x=p-8
y—-6=-2 = y=4 = D(p-8,4,9)
z=9
w=Ch=D-C=(p-8,0,9)
COLABC = wu=0 = (p-8,0,9-(p,6,0=0
= pp-8=0, p>0 = p=8 = B(86,0), D(0,4,9)
1

AC=4, AB=61+36=10, BC=+61+4=168, DC=9

AABC: 68=100+16—2-10-4-cosa = cosa=06 = sina=0.38
DXDYOIPN LIV

V=1.8, ,pc-CD=1-(}-41008)-9 = V=48 @pmrm

AB=u 1N TMN N 199 ,ABC "9 apn EF .h

D% DWN = AB Y Dapnwn oy P9 EF=lu+lv = k=1
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3 3 2 2
z, =2y = z, =29 /:z; = Z =q = 90 =42 ©)
.
-2z, =2Z; , z;=rcisa
= —2r013a_zlq =rcis « - (:trCISa)2 (r013a)3
. o . v
= 2cis 180 - rcis a =1 cis 3a
. o 3 .
2rcis (180 +a)=r cis (-3a)
3 2
(1) 2r=r = =2 = r=2
O o o o o o
(2) 180 +a=-3a+360 k = 4a=-180 +360 k = a=-45 +90 k
ro ‘/-— . o .
z, € Iquadrant = a=45 = z;=v2cis45 =1+i
A

q=2z,=V2cis 45

an—1 an-1 4 4
z,,=2,9 " ogq =g =(W2cis45) )n = (4 cis 4'450)’1

n n n
= (4 cis 1800) =4 (-1) = z,=(-4) = z45, "o

4n—3 4n—3 4n—-2 ., o4.n , o .—2
Z, ,=2,q =qq =q =((2cis45 ) ) -(V2cis 45 )

. o.n 1 . o n 1 B 1 n,
=(4cis180 ) (5 cis (=90 )) = (=4) 5 (i) =—=5-(=4) | = Z4 o MO WM

I
Z 22 264 _
+—=+ ... +—>;=4a, +a, +a,+ ... +a
\/_ (\/_)2 (\/_)3 (\/?)64 1 2 3 64
ani1 Znig zn __Zny1 (V2" _ znq

B8 =an T Wl T (2 B Viz

z 2 cis 45° o Ar°
:%:ﬁ:fﬂ = Cis 45 =q5

s _Z% . [(cis 45°)% -1 71 gis 6445°—1 _ Z1 _cis 2880°—1
64 /2 cis45° —1 ~ /2 cis45° —1 /2 cis45° — 1

_ 21 . cis0°~1 _ 21 _ 1-1 _
=5 Gsh 1 s asie =1 — Sea=0

PP AR O¥yD 9 7Y 1 m M1poT B3 X AR 93 mbion 155 meoont

4 x 1738 = 6952 , 4x1963 =7852 , 12x483 =5796 , 18 x 297 = 5346

27 x 198 = 5346 , 39 x 186 =7254 , 42 x138=5796 , 48 x 159 = 7632
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f(x):%,a>l,(l)lnx = x>0, (2)iInx—Ina#0 = x#a (1 N .4

(1)n(2) = (0<x<a)U(x>a)
(2
Inx (1 +10.2) L 14lna .
lin A~ oo _IH0_ 7 = (0,1) (i) NPYYD MIYIN
X—>0+TF‘N((1 mf() x—1>18+_>1 /noao -0 (0,1) P
Xh'maf(X):Hier)a :(*) %):oo = X=a (*a>1 = lnayéO)
Ina
fim N(Hf"_x):ﬂlﬂna 01 = y=1
x—+oolmx (1 -8 —1 - T4
(3)
—1
y=0 = Inx+lnha=0 = Inx=-lna=Ina = x=a = &,0
(3)
/) —knxina) —finxina) [~ 5ina
(In x—In a)2 x (In x—In a)Z
x |0 a X
/ o -+ _
PPl = FE=
flo \ asym. N
\: 0<x<a)U(x>a) .
o |
K
|
|
! 2., (5
|
l
|
y 9%
f(x) > 1

0PI PAPN PSPNON X > a DINNI .19 NPN .3
DWIPN = [ (X)<0 < N7 YN Nt 0NN
gx)=Infx) = fix)>0 = (0<x <%) U(xx>a) f(x) 9N WY INY (1) D

915 - MPIN DY5 - NN (2)
0’09 =110

) =F<0Vx € {0<x<bux>a)} = 90, Vx € {0<x<buix>a)}
g(x) =Inf(x) 11'161 gx)=—=1In1=0 = (0,0) () NP>50 MIPY¥ION

—00 = X, =
Xﬂéf

—

l1m gx) = — g(a) =—In f(a) =— In(+0) =

11111 g(x)—ﬁ In (+00) =400 = X

«— = a
I == -
XJng(X) ni=0 = vy,
T
5 5 5
SIn (4-f(x)) dx = f(ln 4+1Inf(x)) dx =
3

=[In 4 dx+ [ g(x) dx
5 3 3

5
—xIn4‘+T 5IN4-3In4+T=2In4+T = fIn(4f(x))dx=In16+T
3 3
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X X X
fx) =% . € 640 = € #6 = Xx#In6 1 x .5
2
lim fx)==0=0c0 = x=Iné6
x—1Iné6 () —0
Tex
lim  f Ii =1 = =
X too ) = X—Ij—looe“(l—ix x—+oo1 — L 10 = ¥ =1
: __—0 _ 0 _ —
dm fx) ==35="=0 = y_=0
(3)
/ eX(eX—6)—eX.eX _6eX
f (x)= = <0 Vx € {x#£In6} = : X#In6 , :
() (eX76)2 (eX76)2 { 7& } l 7& 4 )
4)
\ : f(x) 312 Pyo
T Pyo ‘
|
X >
f(x)
x—=In7 x=1In10
=Iné6
a(x)
Y (1 a
g(x) = f(x) l1m g(X) 11111 f(x) %—0 = (In6, 0) ("MIN) NP0 MIP¥ION
1_ —
x—11>3—1 9(x) = xﬁffoo 1=l = y.=1
11m g(X) W:% oo = ﬂ
oo - e
g (x)_f =-F=+ = gx) Vi{x£Iine} ¥ (2
f2(x)
(3)
In1 ¥ In1 In 10 In10 _ In 10
S= / (1—e 9 dx= f (1—1+—x)dx7 S &Kdx=6 [ e dx=-
In7 In7 n7 € In7 In7
—ln10  —In7 -1 1
= —0(e e )=-6-(10 -7 ):—6-(%)—’17) = S=§95 (Y127 NTNY)
]
s 2 2
fx)=g(x) = Fo=230 = & =e —126" +36 = 12 =30
X
= € =3 = x=h3 = y=33:=-1 = (n3,-1)

Y5 N NI f(x) < g(x) :0»pImM In3<x<In5omnnm 7
X=1In3 "2 TPNN NTIPIZ TY OO 0Oy D5ap Nt DINNA 129

Xpin =113 95 x=1In5 TV x =In 3 70 >2°5¥ NOY Y YNOPNA
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9901 DWW O»2VNN1I ONII0

(X<2U(x>9) 722 x>9 N x<2 DNHN DENT N DR, TIMN - U

LI<X<8:DNNN NN x>1 DN x<8 DNNA :HNT O O/, TN - N
.(x>1)N(x<8) = 1<Xx<8 T2 NNt DWD

I NPYTAT MR INL(MPIINT AV 710) 57UNS NEIND NN 9D 995 7772 19m - (/)

1<x<9 AN [1,9] MDA YOPY TOW x M9 X € [1,9] FINT OOV - €
.D ) C 717 93WN WD YY PN (1,2) NTPIN 9> (1,2) € yop T

SUNN x5 May N NATIND DINN MDD LV x DTN NN Nt 9ob -V
12
(Xx—é)>0 VIXA0, xA1} N7

12
L1 Tn WY 0 D YR x 995 0 Tm (Xx—é) NVYIAN PO NMWHYN

2
6 —x—15=0 = x,,=1= " (nonTH) NIN 191 MYPI I¥M 7N NIXNYN NINI
2NN NPPTIN VA YT LAWY R NINYA PRINNY NN TINN - N

V> ON ,5WNY (TwNina O8NLNNY MINY) T0NI9 DIPNI INN TIY IYIAR - NPYYON Nban N9y
(NN T 59 X ,INN TNX D7) 172370 INX THNX VAP 1) ,MYSY S0N> 295 TP 5710 Nsnd

NING PN NN MININ INNYNY MDD X, :*4&_5/7_5 =0 SwunY np nvap - P

8PN 1D ON NIN) NPTIN™TN NP MTIPI )0 MO DIND S¥ N¥P MNP end point - ep.
Mmingp : (5,6) YN (NMY1ap NN NTIPIN SY MTINTNN 11202

max_, : (=7,11) :DWnNJ .MU 0INNI NLIMND NP NTIPI ¥ 1M absolute - ab.
NP extreme - ext.

. . N 2 3 H 2
(inflection) 59 - infl. , NVIVIYON - asym. , P’PD -em , 7DD -cm

X>6 OWN2 N9Y f(x) MOSPNAN wownn -f S Vx>6 Svns e -\, , Moy -
(PVY 235D MVYP) MPVP - ~ , (NIYND 2950 MPYP) MPYP - —

0.1,0.01,0.001 . . . NOONWY NN ININ X — 0+" :5wnY , PO a "o NONY - X — a+
0.9,0.99,0.999 . .. NNV N1 IMIN X — 0—" DUNY , SNnWn a "o NNV - X — a—

912 Jlimit 5S¢ NP - lim
Ay =5 JPPIN NVIVIDON) 5 NIN oo 0 GNIW x WND f(x) Sv bum:xh‘u;c (x) =5 :5vnd

7352 +oo PO TPTINTTN TPPOIN NVIVION -y, =k
7352 —oco  PPI2 TPTINTTN PPN NVIVION -y, =k
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9201 - M99 NYaIN N9Y

TON 5T NN 950 772 DIN0N 057N NN XI5 DMWY DXPIN P2 DXON> NN TPINWD

DYApY 0NIBY DNYY DM’Y OXNNI O¥INND OXPONN NN ,a NI ,I0NI92 OXPoNN

N2 ROY PINSY PN TIAYD NI MY (TVNI9 DIPNI) DN WIAPY NP NIND OIPNI

NN 9T 555 DY OORIMIN P09 NIPHN NI DYIAPY IT0 IMNY IMIN Y 115500

JINRD 20 TIRD AVISY 29 51T TINTIY YHWNI 02280 TAN TIN 7T

2)OPN 2¥I0 TNND AP TIN 5T 7105 9

D2 DN 7 NIN YWWNI MYSY SN O MWD NXOY NONYN NDWI NI NN

Ba NI 9Y7IN 2800 TINRY INID . a™1 )P 2¥)N TN NN PID)

NI AP TIN IN) DIV LOYN NN DY)
\/m:\/a2+932:\/1032:\/ﬁ-\/a_2:a\/ﬁ

. ﬁ@ =/10 »9 Y1oPN 2870 917 PN PN

(15550 N52)0 KOS :PINDY) 170 YOPN AN TN NN VAP OOXXYI 1”0 M NN
DM MN PYTI NN DApnNn A o 4/10 160 N TINY 3 700 51N 2800 TN 1Y
,24y/10 70 AP0 TIN .24 70 997N 28970 TIN .8 ™5 JOPN A¥I70 TIN NN DXV 197 DN

.%1_0 =+/10 - DY IMX PPTI PN YPIAND DM
NIN9 PYWNNS OV NMNNT DXITIN TNX THIN NIN 19XD 02PN NNIAY INNIY NN

SN0 TN TITOY MNAN NN PINT YW WIND Tt DILY

220N - NLY YN PYNOLIN MN2) MNPY

SP5Y TW M) X PYY NNIN N¥IN X PN PAY FISEND 9 P NLY NN

MIDPY TW IMN S LIMHA T 10 NLYA
y=x>+8x+7
At 27 TN NN 9APY T2 MMIWON 1900 P

1 :LIMMY T2 MV 5O PO 1

|=

7

3://7(X2+8x+7) dx/:/(x_;+4x2+7x)
1

|G +4+7) - BB +98+49) =111 - 2611 | = |- 250] = 250
MDY DD NN 2
7 2
S=—[(X +8+7)dx= ... =—(—250) =250
1
A ... VDIDNN D OWY) MYNLPNA M9 N229n 3
1 9
Szé(x +8x+7)dx= ... =2614— 114 =250
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M7 5 = 29 M3 [INNo1I

b=k
(a+b)?=a?+2ab+b2 , a®2—-b2=(a—b)la+b) I%1PP7T Yo7 NIRnON -
(aib)g =a’+3a’b+3ab? +b% | ad+b3 = (atb)@® Fab+b?)
x, , = =t br=dac V2%2*4ac owmwn , ax?+bx+c=0, a#0 Y127 IR -
.m770 -
o737 7770 P aawn 7770
a,=a,ay,; =apq a,=a,ay,; =a,+d 3703 555
a,=a,-q"! ap=a, +(n—1)d N TR
s, :%_nl‘l) S, =M@ tan) B0
S= leq 2D10I°K 0190
log, (ab) =b, alogab =b, log,c= ;ggatc) (a,b,c >0; a,b#1) oonnns -
Ja

t
log, (b-c) =log,b +log,c , log, (%) =log,b —log,c , log, (b ) =t-log,b

M, =M, qt 2 Q RYT T DTN (T3°YTT W) A90TAT MY YT P17 -
[R(cos ¢ +i sin gp)]n -R (cos ny + i sin ny) MARMTTT LOWYH :0°2317 0°ID0N -

n ..
a1 zZ =R(cos p+isin p) SRNWHT N3N

z,= VR [COS(Lr?kﬁ) +isin(§”+n2k7r)] ., k=0,1,2, ...,n—1

— — 2 2 2 . 5 Nak)
X =/XX = X+ X, + X, P Pw TR DONOPT -
x=a+tb—-a)+s(c—a) ra, b, comopy nmzp 777 TN
XY =XY; + XYy + XsY5 = [X]- |y cOS :n77%po 1799m
vV-p+e
v ’/—)‘_// / (V-X+4e=0Tn? p ATPI 11 prn
sin 3 = /C—?%/ CV-X+e =0 M5 a+th w3 nonr k3N
cos a = [viVel (Ve Xte, =0, Vo X+ €, =0 0Mwni 13 1711 NIR3N

N RIZ] L= T2s 2
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PYY2IR 1IN

m :% : (Xg, ¥o)™ (X, Y,) PITIPIT 1T 12197 0 o m e - w7

Y=y, =m(Xx—x;) :(X;,y;) 77P33 92997 m y10°0 OY y = mx + b > nRnwn

PIIRPY Yupa nR (00710 Ap1ena) npbnna C aTpan

I, +kx Ly, +ky
1 2 1 2 . AC _k -
( 7 ) R pE =1 0m1 B(xy,¥,)1 A(xpy,) oA
m,-m, = —1 OX P OX AT? 7T 23NN M,T My oYY by 0w v
Ax,+By,+C
d=| ﬁ / cAX+By+C=0 Wi (X,y,) 7P pAm

2 2
(x—a) +(y—b) = R 23yn% pown nxnwn - 2ayn
RO DAy PYW (X,,Y,) TIP3

(x,—a)(x—a)+ (v, —b)(y—b) =R

2
y = 2pX 1213995 pown nxNwn - 721379

YYo= P(X+X,) R 1213707 PYW (X, Y,) ATPI3

x2 y2

X+5=1 10D°5R NRNWD - 70DY9R
a? ' b?

c=va?-b? WK TP P
r,+r,=2a :DYIPIT TODORA By TIP3 *prTm 0190

manoin

J°13°3 mabonaa maroa n Tin minexn k=% mmanont - v91392 nnots -

. . ;P X7 ANORTP MIMAN0TT WK
n_
Pa(k) = (kP (1=p)" " . (&) =grinsn

P(A/B) = P,@‘}Qf’) P30 M173N07T -
P(A/B) = % 073 nno -

Yesterday is history, tomorrow is a mystery.
Today is a gift, that’s why it’s called the present.
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sin (a + ) = sin a cos 5+ cos a sin 5 T2

cos (o £ ) = cos o cos F F sin « sin

a—/—ﬂ

sin a + sin 4 = 2 sin cos a—gﬂ

sin o — sin 3 = 2 sin Tﬂ cos M

a+ﬂ

cos o+ cos 3= 2 cos cos a—gﬂ

cos a — cos = —2 sin O‘TW sin O‘T_ﬂ

a _ b _ ¢ _ e NetlollL
Sha-SnB-siny " 2R (w5wnn X oo 5aynt 01717 - R) :0°011°077 vown

2

c? = a® +b? — 2ab-cos v (b~% a 1°3 ARSI NN ROT ) OO0 LOWL

S= %aRZ DI o Pw gmanvw |, /=aR IR a Pw nwp TR

(C™% b a2 M%7 A R ) S=5-b-c-sina wWwH now

Dol

(a7 73 - h, o037 now - B) V= % D3 01N AT°T°D (27722 0°9I1X

(v -/, 5yt o111 - R) M = 7R/ :npvyn now 01N

*59IDINT *ORI%ID7T Nawn

t/ t—1 / /
1 H
L] J— J— —_ . -—
( 174alal t) (X) =tx B (\/)_() = —2\/)—( B (SIH X) = CO0S X D172

1
xn a

/77, r X,/ x' ’
(cos x) = —sin x, (tan x) = 557 ° (@) =a -lna, (logyx) =

[f(x)-g(x)] ‘ot /(x)- g(x) +f(x)-g /(x) :N3p1D NP Pw NIl

f0d, 7 _f "x)g(x)- f(x) g’ APEDID NI B NI
9] 9(x)? TR

/ / / /
IR U (x) Ry [fu(x))] =f (u)-u (x) :0337m T3P0 P N3

/
(renzen nataz) u 0% f 5w nams & f (u)™ (0239 NI1a3) X D5 U bw

t t+1
Com t#£—1) [xdx = ’§+—1 +c DD -

ax f(x) bw anrp m3pio 07 F(x) ox

J flu(x)]- u/(x) dx = Flu(x)] +¢ , [ f(mx+b)dx =LF(mx+b)+c





